Dividing with remainders
Learning Objective: 

To express a quotient as a fraction. 

To round up or down after division.

Success Criteria: 
I know to solve division problems that have a remainder.

I can change a remainder into a fraction. (e.g. fractions: 1/2 , 2/5, 7/18)

I can simplify fractions (make them into smaller #s)

A. Division with remainders
Example: 23 ÷ 6 = 

Think how many times does 6 go into 23? I can use my times-table chart to help me. 

I can count by 6s until I get to a multiple that is close to 23. Remember to stop counting your multiples once you have reached a number above 23. The amount of times 6 goes into 23 is the number you counted before you reached 23. 

Answer: 

So 6, 12, 18, 24. 

6 goes into 23, 3 times because the 4th multiple of 6 (24) is above 23.

Ask how much is left over (remaining)? Find out by subtracting 23 by 18 (the multiple of 3). 23-18 = 5. The remainder (r or R) is 5.

Therefore 23 ÷ 6 = 3 r5 

Complete the divisions, showing the remainder. 

1. 13 ÷ 2 = 

2. 25 ÷ 2 = 

3. 54 ÷ 6 =

4. 34 ÷ 7 = 

5. 98 ÷ 5 = 

6. one-seventh of 47 = 

7. dividing fifty by eight = 

8. one-third of 32 =

B. Changing a remainder into a fraction

Quotient: the result/answer from division

Example: 23 ÷ 6 = 3 r5 

To change a remainder into a fraction, put the remainder over the divisor. 

The remainder is 5. The divisor is 6. Put 5 over the 6 = 5/6

Answer: 23 ÷ 6 = 3 5/6.

Use the quotients from section A. Change the remainders into fractions. 

1. 

2. 

3.

4.

5. 

6. 

7. 

8. 

C. Simplifying Fractions 

Simplify (reduce): means to make the fraction as simple as possible.

To simplify a fraction divide the top and bottom by the highest number that can divide into both numbers exactly.

Example: 60 ÷ 8 = 7 r4   is the same as 60÷ 8 = 7 4/8

The remainder 4/8 can be simplified further.

Divide both the top and bottom of the fraction until you can't go any further (try dividing by 2,3,5,7,... etc).

Therefore both 4 and 8 can be divided by 2.     4 ÷ 2= 2 and 8 ÷ 2= 4  We have simplified 4/8 to 2/4.

We can simplify 2/4 further. Divide 2/4 by 2.   2 ÷ 2= 1 and 4 ÷ 2= 2 We have simplified 2/4 to 1/2.

Answer: The fraction 1/2 is now in its lowest possible form!
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Simplify these fractions into their lowest possible form. 

1. 4/8 = 

2. 5/10 = 

3. 9/72 = 

4. 6/36 = 

5. 3/60 = 

6. 7/63= 

7. 8/40 = 

8. 2/4284 =
